B. Com. 6™ Semester (Honours) Examination, 2022 (CBCS)
Subject: Fundamentals of Financial Management
Paper: CC-13 (6.1 CH)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words

as far as practicable.
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1. Answer any ten questions from the following: 2x10=20

T FEE 76 T Tod TI8:
(a)Mention two main objectives of Financial Management.
SAYF FFHAE wfly T ST SEY F4|
(b) What do you mean by Time Value of Money?
SR FAIES Fel(® P (JNRT?
(c ) What is meant by Weighted Average Cost of Capital?
T ST TG I I FI (IAT?
(d) What does Degree of Operating Leverage indicate?
FHfAE FreTEEe sar St T FE?
(e) Mention any two sources of long-term finance.
SIGRITAT ST 76 T3H S@EN FH|
(f) What is meant by Optimum Capital Structure?
SIS LA ST TS I (ITII?
(g) What is Capital Rationing?
NS N@Fe(rationing) I?
(h) What do you mean by Mutually Exclusive Project?
MRS AFE0AT 559 Ie0 FI (JIRN?
(i) What do you mean by the Pay-Back Period of an investment
project?
AFf5 RIS IFET (FROFT T FT (JRAT?
(j) Mention any two sources of Permanent Working Capital of a company.




236 @ T FHEFI JINEF (T (@A 9f6 T SEN F41
(k) What is Temporary Working Capital?
SIE FHFAT AT FI?
(I) What do you mean by Working Capital Management?
FRFA A AT I T (IRT?
(m) What does Dividend Payout Ratio imply?
TOTRT FBF SIS Pl VT FE?
(n) Mention any two assumptions of Walter’s Dividend Model.
SATBIES TSI TG NG I SNefallel SE F |
(o) What is Retained Earnings?
3fHe SIE F17?
2. Answer any four questions from the following: 5x4=20
RICEICICaE A Bl [EERCTE R K
(a) Discuss the scope of Financial Management according to the modern
approach.

ST THS ST ST NN A ST F1
(b) What is meant by Financial Leverage? How does it magnify the earnings available
to equity shareholders?

AF RS Fee I (@RI? A6 FeTF 220 CRAF-RISRER ST e FE?

(c ) Sun Ltd. issues %5,00,000 10% redeemable debentures at a discount of 5%. The
floatation cost is ¥15,000. The debentures are redeemable after 5 years. Calculate
the before-tax cost of debt and after-tax cost of debt assuming a tax rate of 50%.

RE ] GBS

(d) Explain briefly ‘Matching’ and ‘Conservative’ strategies for financing current assets.
5EIS STPOIE AYTRAEH Sl 'FEAFFe 8 'THerier (el ST 7T FH|
(e) Moon Ltd. has distributed dividends at 20% per annum. The company's paid-up
capital is 35 lakh equity shares of 20 each. The expected annual growth rate of
dividends is 4%. The company expects a 15% rate of return on its equity capital.
Calculate the value per equity share of Moon Ltd. under Gordon's Dividend Growth
Model. 2@ 7] wB3T|
(f) What is the Internal Rate of Return on investment? How is it used to determine
the acceptability of a project?

2376 FRAfaEmsE TewalT SfenEa 27 $1? FreT b 976 FFET TS FEfFdT

3. Answer any two questions from the following: 10x2=20
ClCEEQIGAC R Tk [EERCIE R KK
(a) Jupiter Ltd. has an equity share capital of ¥5,00,000 of 100 each. The company
has decided to modernise its plant for increasing production. The modernisation
programme will cost ¥3,50,000. The company has four alternative financing plans in




hand as follows:
(i) all by the issue of equity shares.
(ii) *1,00,000 by the issue of equity shares and the remaining amount by the issue
of 12% debentures.
(iii) all by issuing a long-term loan at 12% p.a.
(iv) %1,00,000 by the issue of equity shares and balance by the issue of 10%
preference shares.
The expected EBIT of the company is ¥2,50,000 and the corporate tax rate is 40%.
Calculate Financial Leverage and EPS for each of the above four alternative financing
plans. Which plan would you recommend and why?
ENGINEHICESH

(b) Discuss the various factors that influence the dividend decision of a firm. a%fG
TIGIEG TSI 364 MaRE TelTe @ 994 Aoy FAFaf s F71
(c ) Discuss the determinants of the working capital requirement of a firm. a6 Hefael
IR AAYAF TFO T A FTFTR ATSIT ST 371

(d) A company requires to purchase a machine for their new plant. There are two
types of machines in the market which can fulfil their need. Machine A costs
%1,00,000, payable immediately. Machine B costs ¥1,20,000, half of which is payable
immediately and the rest amount payable after one year. The machines have no scrap
value at the end of their life. The expected after-tax cash inflows after providing
depreciation on a straight-line basis for the entire life of the machines are as follows:

Year(at the end) Machine Machine
AR) B (})

1 20,000 —

2 60,000 60,000

3 40,000 60,000

4 30,000 80,000

5 20,000 -

If the cost of capital is 12%, which machine should be selected? Use NPV
technique. Present values of 1 at a 12% discount rate are as follows:
Year0 1 2 3 4 5

PV 1 0.89 080 0.71 0.63 0.57
ENGINEE RO



